flux

A? / 0.6515

Ax? / 0.6603

—100

30

20

10

Fe2 + Continuum Fit
oy 'I:'>55 klrn/ls ke |51-7 +/— 2.63, km/s . Xlzmiln / 4612

= 0.6515
——

3000 3500 4000 4500 5000 5500

Rest A (&)
Fe2 Scale Factor X2 Diagnosis
oy 555 km/s 0.04526(154) X2min / 4612 = 0.6515
1 T < - - 1 - T 1 I g - - 1 T T v T T T T T T T 1
rm649 RMS 4.03

L MAD 3.04 .

L | L L L L | L L L L | L L L L | L L L L | L L L L | L

0.035 0.04 0.045 0.05 0.055 0.06

Fe2 scale factor

Fe2 Velocity Dispersion X2 Diagnosis

gy 104 1057 prior 225 km/s 60(260) X2 / 4612 = 0.6515
L T | T | T | T | T | T | T ]
| rmgae RMS 37.2
I MAD 27.8 |
I | | B
0 1200

Fe2 Dispersion (km/s)



